Project Name: Systemic Rumble Strip and High Friction Surface Treatment Spec. No. RD23-01 Abstract of Bids opened on Sept. 29, 2022

ENGINEER'S ESTIMATE: 2,200,000.00

LOW BIDDER -

2,783,352.60

Toro Enterprises, Inc. Oxnard, CA 93031

2nd Bidder -

3,275,000.00

American Civil Constructors West Coast LLC.

Benicia, CA 94510

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: C. Solis

BID ABSTRACT		COUNT	COUNTY OF VENTURA - PUBLIC WORKS AGENCY	RKS AGENCY	
Bids opened on Sept. 29, 2022			ENGINEER'S ESTIMATE	LOW BIDDER	2nd Bidder
Project Name: Systemic Rumble Strip and High Friction St				Toro Enterprises, Inc.	American Ci
				P. O. Box 6285	2990 Bay Vi
				Oxnard. CA 93031	Benicia, CA
Spec. No. RD23-01					
ITEM					
	1				

						בייטטיי בייטטיי			
Proje	Project Name: Systemic Rumble Strip and High Friction Su				•	Toro Enterprises, Inc.	Inc.	American Civil Co	American Civil Constructors West Coast I
						P. O. Box 6285 Oxnard, CA 93031	-	2990 Bay Vista Court, Suite D Benicia CA 94510	ourt, Suite D
	Spec. No. RD23-01					,	_	or o	
ITEM									
Š.	ITEM	LIND	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
-	Mobilization	S	_	260,000.00	260,000.00	239,000.00	239,000.00	325.481.00	325.481.00
2	Traffic Control & Construction Signing	r _S	-	260,513.00	260,513.00	369,000.00	369,000.00	425,000.00	425,000.00
က	Water Pollution Control	က	_	10,000.00	10,000.00	30,000.00	30,000.00	50,000.00	20,000.00
4	Processed Miscellaneous Base	Z	1700	70.00	119,000.00	70.00	119,000.00	70.50	119,850.00
ည	AC Pavement Widening (4' Wide x 6" Thick)	Z	1554	145.00	225,330.00	270.00	419,580.00	400.00	621,600.00
9	Centerline Rumble Strip	Σ	38.2	3,500.00	133,700.00	3,900.00	148,980.00	2,900.00	110,780.00
7	Edgeline Rumble Strip	Ξ	42.2	3,500.00	147,700.00	3,900.00	164,580.00	2,800.00	118,160.00
œ	Fog Seal	S	25532	3.00	76,596.00	1.30	33,191.60	1.00	25,532.00
თ	High Friction Surface Treatment	S≺	20572	30.00	617,160.00	35.00	720,020.00	43.00	884,596.00
10	Pavement Delineation, Striping & Signing	rs	_	350,000.00	350,000.00	540,000.00	540,000.00	594,000,00	594,000.00
7	Release On Contract	rs	_	1.00	1.00	1.00	1.00	1.00	1.00
	TOTAL			Ļ	2,200,000.00		2,783,352.60		3,275,000.00

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM: C. Solis

Spec. No. RD23-01 Project No. 50618

PROPOSAL

Contractor's Name TORO ENTERPRISES, INC.

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
TRUESDELL CORPORATION OF CALIFORNIA, INC.	615058	1310 W. 23rd STREET TEMPE, AZ 85282	HIGH-FRICTION SURFACE TREATMENT

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.

PROPOSAL

Contractor's Name American Civil Constructors West Coast LLC

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
HARDY & HARPER, INC.	CCL) 215952 DIR) 100000076	32 RANCHO CIRCLE LAKE FOREST, CA 92630	H)PROCESSED MISCELLANEOUS BASE (100× 4 T
HARDY & HARPER, INC.	(CL) 215952 DIR)1000000076		5) PARTIAL) FURNISH & PLACE AC PAYEMENT WIDENING (EXCAVATION)
HARDY & HARPER, INC.	CCL) 215952 DIR) 1000000076	32 RANCHO CIRCLE LAKE FOREST, CA 92630	GRADING, & COMPACTION BY PRIME CONTRACTOR) (50% of ITEM)
_	CCL) 303609 DIR) 1000003382	JURUPA VALLEY, CA 91752	
POVEMENT RECYCLING SYSTEMS, INC.	(CL) 569352 DIR) 1000003363	10240 SAN SEVAINE WAY, - JURUPA VAILEY, CA 91752-	-6) CENTERLINE RUMBLES (10-7) EDGELINE RUMBLES (150
SUPER SEAL & STRIPE	CCL)396627 DIR)1000000752	310 A STREET, P.O. BOX 755, FILLMORE, CA 93016	10) PAYEMENT DELINEATION, STRIPING & SIGNING (100)

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

(a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.

(b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.